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Q.No 

SECTION A  

1. Each Question will carry 6 Marks  

2. Instruction: Complete the statement / Select the correct answer(s) – Any answer 

should not exceed 100 words 

Marks COs 

1.  

Given the table: 

 
 

5 CO1 



Further, If I have a corresponding table that says: 

 
 

What is the output for LOOKUP(“Lenora”,A1:H10,C2:C10), VLOOKUP(C4, $J$2:$K$5,2) and 

VLOOKUP(C5, $J$2:$K$5,2, FALSE) respectively? 

 

i) 186, A,B                ii) ANT2365, B,A                iii) 110, B, A                 iv) 186,B,#NA  

v) 110, B, #NA         vi) 186, A, B                       vii) 110, A, #NA 

 

2. 

Match the following: 

a. Velocity i. Currency 

b. $ sign in Excel reference ii. Big data 

c. Ctrl + L iii. Pivot table 

d. Report Filter iv. moderates Excel behavior 

when the formula is moved 

or copied to other cells 

e. Legend v. Short Cut Key 

 vi. Graphs and Charts 

 vii. Lookup Table 

 

5 CO1 

3. 
Provide the output for the following: (3+2=5 Marks) 

Given the following table: 
5 CO4 



 
Then for the given formula as shown below, 

 
 

What is the output when applied to (i) $B$2:$H$14 and (ii) $B$2:$C$14 



4. 

Fill in the blank from the following options 

 

Customer Relationship Management (CRM) ensures customers, ___________ and 

____________ at the centre of your organization. A customer life-cycle in CRM consists of 

_________, _________ and ___________ phases  

 

Options: acquisition/ data / profitability / database / customers / acquire/ enhance / target / 

retain 

  

5 CO1 

5. 

True/False (With explanation. If false they explain why and if true then explain what it 

means. No marks without explanation) 

 

No other variation of graph other than pie-chart can compare percentages of two 

different series in a dataset. 

5 CO3 

6.  

True/False (With explanation. If false they explain why and if true then explain what it 

means. No marks without explanation) 

 

Qualitative data may include both numerical and non-numerical data. 

5 CO3 

 

SECTION B 

1. Each question will carry 10 marks  

2. Instruction: Any answer to the question should not exceed 350 words. Mention 

assumptions clearly if you are taking one 

3. No marks if steps are written in paragraphs or if the handwriting is illegible 

  

7. 

Look at the following table: 

 
a) What are the steps if you want to create a dropdown for the column “Gender” such 

that it allows only Male and Female as options? (5) 

b) What are the steps if you want to the column “Score” allows decimal values between 

0 and 100? (5) 

10 CO3 

8. a) What are the three different elements in a customer life cycle? (4 Marks) 10 CO1 



b) Explain how Pivot table and Lookup Table help you performing Customer Segmentation 

and ensure targeted marketing? (3+3=6 Marks) 

9. 

Color Formatting Skills: 

 

Given the table mention the steps in a point-wise format to perform the following tasks: 

(3+4+3) 

a) Highlight the cells that are greater than >=3500 

b) Highlight the blank cells and error cells in blue 

c) Highlight every alternate row in yellow 

10 CO2 

10. 

a) Explain when you will choose a (i) Bar Graph, (ii) Line graph and (iii) Pie-chart for data 

visualization. (2+2+2=6 marks) 

b) Given the table, I want to get a pie-chart comparing the total number of wildlife present 

between 2017 to 2022. Provide the steps how I can get the output. 

10 CO4 



 

11. 

Pivot Table: 

Given the table below: 

 
Provide the steps in details to get the following output: 

10 CO2 



 

 
SECTION C 

1. Each question will carry 20 marks  

2. Instruction: Write long answer (800 words maximum) 

  

12. 

Swiggy, an on-demand delivery start-up, has been operating for almost a year in Bengaluru, 

India. There is variation in demand and hence there the whole city is segregated into Tier-1, 

Tier-2, and Tier-3 cities, such that Tier-1 localities are the ones with most orders and Tier-3 

with least. Although there is growth, Swiggy is incurring a loss or cash burn of around INR 7 

per delivery. However, the company expects that the exponential growth of the business will 

persist. Swiggy’s current cash reserve is also drying up and its chief executive officer has been 

unsuccessful in attracting new VC funding to finance the cash burn estimated for the next four 

quarters. Swiggy’s challenge is to figure out how to pursue its growth without the injection 

of any fresh funds. 

Questions at hand 

A. One way is to ensure exponential growth in demand. We have obtained the total deliveries 

for 52 weeks for all the 3 tiers in the cities. Our task is to check the possibility of 

exponential growth in the number of deliveries from 53rd week onwards. For that, you need 

to get the exponential equation and R-square value by checking the possible trend, to 

comment on the feasibility, as shown in the given figure. As you can see the forecast uses 

an equation y=14314e0.0222x for tier 1 locality forecast. Write down the steps how to 

perform that action?(10 Marks) 

20 CO3 



  
B. Apart from that, Swiggy can also look at operational parameters and adjust them at the 

beginning of any of the four quarters and it will flow to subsequent quarters (such as, 

rider fixed weekly salary, commission rate charged by Swiggy, etc.). Presently as the 

manager have the following details. 



 

As a manager you need to ensure that Swiggy is able to break-even, that is, its cash 

reserve remains unchanged. For that, you have decided to increase the Average 

Commission charged in the above table in the first quarter, which continues for the 

next three quarters too. Identify the excel tool that you need to use and why? 

Mention the steps to perform the operation. (2+8) 

Hint and Note: Cell F1 has value “1” when 15% is the initial average commission. 

Changing the value of Cell F1 to “1.1” will represent a 10% increase in average 

commission. Then the average commission will change to 16.50% and it will look like 

this. 



 

 

 


